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1
Introduction
In this paper we would like to propose the content of the Aspects of Hetnets section in the proposed Heterogeneous Networks TR Skeleton [1]. 
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6.1
Interference in co-channel scenario
Figure 1 shows the link level throughput with different power levels for the interferer in co-channel deployment. This is a typical scenario when the legacy UE is connected to the macro node and the received signal due to LPN acts like a dominant interferer.  It can be observed that the performance is severely impacted if the interferer power is above -5 dB.  
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Figure 1 Link throughput with a marginal interference for co-channel deployment in the Ped A channel. 
Figure 2 shows the link throughput performance with various Ioc values with a dominant interferer. This is the case when the UE is in the cell range expansion region and there is strong interference from the macro Node.  It can be seen that all these cases, the performance is impacted severely due to the strong interference.  
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Figure 2 Link throughput with a dominant interference for co-channel deployment in the Ped A channel
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